BID TABULATION FOR:

BID OPENING DATE: BID OPENING LOCATION:

TABULATION BY:

LJA JOB NO.

TABULATION DATE:

CLEARING AND GRUBBING AND MASS GRADING & DETENTION TO SERVE CAMERON COVE

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS

A.CAROTHERS MAY 12, 2025 0386-0204 (9.2)

	BIDDER NAME	BASE BID	ALTERNATE PLUS BASE BID
1) LONNIE LISCHKA COMPA	NY, LP	\$1,374,633.32	\$2,111,561.07
2) NORTHTEX CONSTRUCTI	ON, LLC	\$1,416,254.71	\$2,219,435.30
3) CE BARKER LTD.		\$1,472,096.30	\$2,453,846.30
4) ANCHOR EXCAVATORS, I	NC.	\$1,517,715.88	\$2,275,119.63
5) LONGHORN EXCAVATOR	S, INC.	\$1,633,690.05	\$2,689,770.00
6) DNT CONSTRUCTION LLC		\$1,725,000.00	\$2,455,000.00
7) NORTH HOUSTON TAND	EM, INC.	\$2,180,026.70	\$2,886,923.45

55 CALENDAR DAYS

1, Joe Castro , PE., hereby certify these bid tabulations to be true and correct.



HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS MAY 12, 2025

0386-0204 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

			1) LONNIE LISCH	KA COMPANY, LP	2) NORTHTEX CONSTRUCTION, LLC		3) CE BARKER LTD.		4) ANCHOR EXC	AVATORS, INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID CLEARING AND DEMOLITION ITEMS 1. CLEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK DRAGGI COMPLETE IN PLACE	NG, AC	79	\$1,100.00	\$86,900.00	\$504.87	\$39,884.73	\$1,300.00	\$102,700.00	\$2,174.00	\$171,746.00
CLEARING AND GRUBBING OF DETENTION POND, INCLUDES ROOT RAKIN AND BACK DRAGGING, COMPLETE IN PLACE	IG AC	14	\$1,100.00	\$15,400.00	\$605.18	\$8,472.52	\$1,300.00	\$18,200.00	\$2,074.00	\$29,036.00
3. CLEARING AND GRUBBING OF DRAINAGE CHANNEL, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	9	\$1,100.00	\$9,900.00	\$588.83	\$5,299.47	\$1,300.00	\$11,700.00	\$4,373.00	\$39,357.00
4. REMOVE AND OFFSITE DISPOSAL OF EXISTING METAL BARN, COMPLETE PLACE	IN EA	1	\$2,000.00	\$2,000.00	\$6,290.02	\$6,290.02	\$2,500.00	\$2,500.00	\$5,175.00	\$5,175.00
5. REMOVE AND OFFSITE DISPOSAL OF EXISTING ABANDONED WELL, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$11,705.46	\$11,705.46	\$6,000.00	\$6,000.00	\$7,820.00	\$7,820.00
6. REMOVE AND OFFSITE DISPOSAL OF EXISTING 6' CONCRETE WATER TROUGH, COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$1,716.41	\$1,716.41	\$1,000.00	\$1,000.00	\$375.00	\$375.00
7. REMOVAL AND DISPOSAL OF DISCARDED MATERIAL NEAR THE CREEK	LS	1	\$1,000.00	\$1,000.00	\$4,534.21	\$4,534.21	\$1,500.00	\$1,500.00	\$1,700.00	\$1,700.00
8. REMOVE AND OFFSITE DISPOSAL OF BARB WIRE FENCE, COMPLETE IN PLACE	LF	17310	\$2.20	\$38,082.00	\$0.81	\$14,021.10	\$2.00	\$34,620.00	\$2.17	\$37,562.70
9. REMOVE AND OFFSITE DISPOSAL OF EXISTING ELECTRIC FENCE, COMPLE IN PLACE	TE LF	1112	\$1.00	\$1,112.00	\$1.64	\$1,823.68	\$3.00	\$3,336.00	\$2.17	\$2,413.04
 REMOVE AND OFFSITE DISPOSAL OF EXISTING TREE AND ROOT BALL (ALI SIZES), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE 	. EA	1	\$1,000.00	\$1,000.00	\$1,869.64	\$1,869.64	\$1,000.00	\$1,000.00	\$17,000.00	\$17,000.00
SUBTOTAL BASE BID CLEARING AND DEMOLITION ITEMS			_	\$160,794.00	_	\$95,617.24	_	\$182,556.00	_	\$312,184.74
BASE BID MASS GRADING ITEMS 1. BACKSLOPE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCT DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPING COMPLETE IN PLACE		7830	\$2.50	\$19,575.00	\$5.38	\$42,125.40	\$3.00	\$23,490.00	\$2.57	\$20,123.10
2. ALL EXCAVATION FROM PROPOSED POND AND CHANNEL, AS INDICATED PLANS, COMPLETE IN PLACE	ON CY	198215	\$2.31	\$457,876.65	\$1.20	\$237,858.00	\$3.00	\$594,645.00	\$2.00	\$396,430.00
3. HAUL, PLACEMENT, GRADING, AND COMPACTION OF EXCAVATED MATERIAL FROM PROPOSED NORTH POND, FILL SHALL BE COMPACTED 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, IN ACCORDANCE WITH GRADING PLAN, COMPLETE IN PLACE	СУ	86483	\$1.00	\$86,483.00	\$1.70	\$147,021.10	\$0.50	\$43,241.50	\$1.07	\$92,536.81
4. HAUL, PLACEMENT, GRADING, AND COMPACTION OF EXCAVATED MATERIAL FROM PROPOSED SOUTH POND, FILL SHALL BE COMPACTED 1 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, IN ACCORDANCE WITH GRADING PLAN, COMPLETE IN PLACE	CY TO	95100	\$1.00	\$95,100.00	\$1.70	\$161,670.00	\$0.50	\$47,550.00	\$1.07	\$101,757.00
5. HAUL, PLACEMENT, GRADING, AND COMPACTION OF EXCAVATED MATERIAL FROM PROPOSED CHANNEL, FILL SHALL BE COMPACTED TO 9 STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, IN ACCORDAN WITH GRADING PLAN, COMPLETE IN PLACE		16632	\$1.00	\$16,632.00	\$1.96	\$32,598.72	\$2.50	\$41,580.00	\$1.75	\$29,106.00
SUBTOTAL BASE BID MASS GRADING ITEMS			_	\$675,666.65	_	\$621,273.22	_	\$750,506.50	_	\$639,952.91 FRN F-1386

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS BID OPENING DATE: MAY 09, 2025 BID OPENING LOCATION: LJA ENGINEERING, INC. TABULATION BY: A.CAROTHERS TABULATION DATE: MAY 12, 2025 LJA JOB NO. 0386-0204 (9.2)

				1) LONNIE LISCH	HKA COMPANY, LP	2) NORTHTEX CO	2) NORTHTEX CONSTRUCTION, LLC		3) CE BARKER LTD.		4) ANCHOR EXCAVATORS, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
	D DRAINAGE FACILITIES ITEMS 6' X 5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	49	\$726.00	\$35,574.00	\$631.71	\$30,953.79	\$6 65.00	\$32,585.00	\$679.00	\$33,271.00	
2	8' X 5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	255	\$938.05	\$239,202.75	\$825.48	\$210,497.40	\$855.00	\$218,025.00	\$947.00	\$241,485.00	
3	24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	12	\$105.00	\$1,260.00	\$179.31	\$2,151.72	\$140.00	\$1,680.00	\$137.00	\$1,644.00	
4	30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	78	\$185.00	\$14,430.00	\$128.77	\$10,044.06	\$165.00	\$12,870.00	\$147.00	\$11,466.00	
5	54" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	74	\$399.00	\$29,526.00	\$373.01	\$27,602.74	\$390.00	\$28,860.00	\$357.00	\$26,418.00	
6	60" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	23	\$476.00	\$10,948.00	\$515.78	\$11,862.94	\$445.00	\$10,235.00	\$427.00	\$9,821.00	
7.	TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	479	\$0.50	\$239.50	\$0.82	\$392.78	\$1.00	\$479.00	\$5.75	\$2,754.25	
8	8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$460.00	\$920.00	\$508.73	\$1,017.46	\$1,000.00	\$2,000.00	\$117.00	\$234.00	
9	REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "E" INLET TOP, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$20,064.00	\$20,064.00	\$28,037.41	\$28,037.41	\$22,000.00	\$22,000.00	\$17,380.00	\$17,380.00	
10	CONTROL STRUCTURE, 3'X3' TOP OPENING WITH PARALLEL GRATE BAR, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$10,610.00	\$10,610.00	\$4,871.66	\$4,871.66	\$7,000.00	\$7,000.00	\$9,070.00	\$9,070.00	
11	CONSTRUCT REINFORCED CONCRETE TYPE "E" INLET ON PROPOSED STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$7,895.00	\$7,895.00	\$4,492.43	\$4,492.43	\$11,500.00	\$11,500.00	\$14,070.00	\$14,070.00	
12	4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	587	\$99.00	\$58,113.00	\$166.06	\$97,477.22	\$90.00	\$52,830.00	\$97.00	\$56,939.00	
13	18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	11	\$105.00	\$1,155.00	\$154.66	\$1,701.26	\$100.00	\$1,100.00	\$127.00	\$1,397.00	
14	BACKSLOPE INTERCEPTOR STRUCTURE INCLUDES 24" C.G.M.P STORM SEWER AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	5	\$8,900.00	\$44,500.00	\$16,291.46	\$81,457.30	\$9,000.00	\$45,000.00	\$11,075.00	\$55,375.00	
15	30 FOOT GRASS LINED EXTREME EVENT OVERFLOW WEIR, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$4,585.96	\$4,585.96	\$5,000.00	\$5,000.00	\$3,575.00	\$3,575.00	
16	DETENTION AND CHANNEL SLOPE TURF ESTABLISHMENT AND SLOPE STABALIZATION TO ENSURE GROWTH BY ANY MEANS NECESSARY, BY THE FOLLOWING METHODS OR ANY COMBINATION OF THESE METHODS OR APPROVED EQUAL: HYDROMULCH WITH 25% MILLET & 75% BERMUDA SEEZ, OR HYDROMULCH WITH 50D STRIPS AND/OR CURLEX STRIPS SPACED AT 8' O.C. VERTICALLY ALONG SLOPES, OR DRY-APPLICATION SEED PLUS HAY/STRAW METHOD, INCLUDING WATERING, FERTILIZING, OVERSEEDING, RE-SEEDING, COMPLETE IN PLACE	AC	8	\$3,800.00	\$30,400.00	\$2,458.15	\$19,665.20	\$1,500.00	\$12,000.00	\$2,700.00	\$21,600.00	

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS MAY 12, 2025

0386-0204 (9.2)

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

				1) LONNIE LISCHKA COMPANY, LP		2) NORTHTEX CO	ONSTRUCTION, LLC	3) CE BAR	3) CE BARKER LTD.		AVATORS, INC.
NO. ITEM DESC	RIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
17. DETENTION MAINTENANCE BERM AND SEEDING TURF ESTABLISHMENT TO ENS NECESSARY, INCLUDING WATERING, FE SEEDING, (TO BE USED AS DIRECTED BY	SURE GROWTH BY ANY MEANS RTILIZING, OVERSEEDING, RE-	AC	7	\$1,250.00	\$8,750.00	\$1,053.49	\$7,374.43	\$500.00	\$3,500.00	\$1,975.00	\$13,825.00
SUBTOTAL BASE BID DRAINAGE FACILITIES ITEM	ıs			•	\$514,587.25	-	\$544,185.76		\$466,664.00		\$520,324.25
BASE BID MISCELLANEOUS 1. SURFACE PUMPING STORMWATER, ALL CONSTRUCT DETENTION POND, (AS DIR PLACE	·	LS	1	\$10,200.00	\$10,200.00	\$2,388.00	\$2,388.00	\$10,000.00	\$10,000.00	\$17,500.00	\$17,500.00
 GROUND WATER CONTROL TO COMPLE CHANNEL, OR POND, INCLUDES CONVE POINTS, INTERNAL SUMPS AND PUMPS NECESSARY TO COMPLETE THE CONSTR DIRECTED BY ENGINEER), COMPLETE IN 	NTIONAL VACUUM TYPE WELL 5, OR ANY TYPE OF PUMPING AS RUCTION OF THE PROJECT, (AS	LS	1	\$1.00	\$1.00	\$87,855.92	\$87,855.92	\$5,000.00	\$5,000.00	\$0.01	\$0.01
3. TEMPORARY TRAFFIC CONTROL PLAN, (COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$3,652.16	\$3,652.16	\$5,000.00	\$5,000.00	\$0.01	\$0.01
 STORM WATER POLLUTION PREVENTIO GENERAL SOURCE CONTROLS AND ALL THE BID PROPOSAL, COMPLETE IN PLACE 	ITEMS NOT SPECIFICALLY LISTED IN	LS	1	\$3,500.00	\$3,500.00	\$2,224.04	\$2,224.04	\$500.00	\$500.00	\$507.00	\$507.00
INSTALL, MAINTAIN, AND REMOVE CON COMPLETE IN PLACE	NCRETE TRUCK WASHOUT AREA,	EA	1	\$500.00	\$500.00	\$1,380.80	\$1,380.80	\$750.00	\$750.00	\$507.00	\$507.00
INSTALL, MAINTAIN, AND REMOVE FILT FENCING), COMPLETE IN PLACE	ER FABRIC FENCE (SILT BARRIER	LF	8176	\$0.01	\$81.76	\$2.34	\$19,131.84	\$1.80	\$14,716.80	\$0.01	\$81.76
7. INSTALL, MAINTAIN, AND REMOVE REIN BARRIER FENCING), COMPLETE IN PLAC		LF	6295	\$0.01	\$62.95	\$2.34	\$14,730.30	\$2.00	\$12,590.00	\$0.01	\$62.95
8. CONSTRUCTION FENCE (ORANGE), COM	MPLETE IN PLACE	LF	3871	\$0.01	\$38.71	\$2.46	\$9,522.66	\$3.00	\$11,613.00	\$1.75	\$6,774.25
9. INLET PROTECTION BARRIER FOR STAGE	E I INLET, COMPLETE IN PLACE	EA	2	\$100.00	\$200.00	\$76.09	\$152.18	\$100.00	\$200.00	\$157.00	\$314.00
10. INSTALL, MAINTAIN, AND REMOVE STA REGRADE AREA TO MATCH FINISHED G		EA	1	\$3,500.00	\$3,500.00	\$4,776.22	\$4,776.22	\$2,000.00	\$2,000.00	\$2,007.00	\$2,007.00
11. AS BUILT SURVEY OF ALL PAVEMENT HIS CORNERS, INCLUDES AN EXHIBIT CERTIF PROFESSIONAL LAND SURVEYOR IN THE AUTOCAD FILE OF SURVEY, COMPLETE I	FIED BY A REGISTERED E STATE OF TEXAS, AS WELL AS AN	LS	1	\$5,500.00	\$5,500.00	\$9,364.37	\$9,364.37	\$10,000.00	\$10,000.00	\$17,500.00	\$17,500.00
SUBTOTAL BASE BID MISCELLANEOUS					\$23,585.42	-	\$155,178.49	_	\$72,369.80	_	\$45,253.98
ALTERNATE ALTERNATE BID ITEMS 1. 8' X 5' REINFORCED CONCRETE BOX CUI BEDDING AND BACKFILL, ALL DEPTHS, C		LF	255	\$938.05	\$239,202.75	\$837.61	\$213,590.55	\$1,000.00	\$255,000.00	\$947.00	\$241,485.00
 5" TRAPEZOIDAL CONCRETE LINED OFFS SLOPES). CONCRETE CHANNEL SHALL H. TRANSITION FROM 25' TO 40' FROM ST. BOTTOM WIDTH FROM STA. 30+00 TO S COMPLETE IN PLACE 	AVE A 25' BOTTOM WIDTH A. 29+50 TO STA. 30+00, AND 40'	SY	4645	\$105.00	\$487,725.00	\$119.37	\$554,473.65	\$150.00	\$696,750.00	\$108.75	\$505,143.75

FRN F-1386 LJA Engineering, Inc.

BID TABULATION FOR:

CLEARING AND GRUBBING AND MASS GRADING & DETENTION TO SERVE CAMERON COVE

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS MAY 12, 2025 0386-0204 (9.2)

				1) LONNIE LISC	HKA COMPANY, LP	2) NORTHTEX CO	NSTRUCTION, LLC	3) CE BARI	KER LTD.	4) ANCHOR EXC	AVATORS, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
STRUCTU DISCONN DISCONN MISCELLA	TION, REMOVAL, AND OFFSITE DISPOSAL OF EXISITING ANCILLARY RE (OUTBUILDING), INCLUDING FOUNDATION, UTILITIES ECTION, AND PROPER DISPOSAL. WORK INCLUDES ECTION OF UTILITIES (IF PRESENT) AND HAUL-OFF OF ANEOUS DISCARDED MATERIALS (E.G., OLD DOORS, ALUMINUM ,, SURPLUS CONSTRUCTION ITEMS) FOUND ON SITE	LS	1	\$10,000.00	\$10,000.00	\$35,116.39	\$35,116.39	\$30,000.00	\$30,000.00	\$10,775.00	\$10,775.00
SUBTOTAL ALTERN	NATE ALTERNATE BID ITEMS				\$736,927.75	_	\$803,180.59	_	\$981,750.00		\$757,403.75
BID SUMMARY								77			
BASE BID CLEARING	S AND DEMOLITION ITEMS				\$160,794.00		\$95,617.24		\$182,556.00		\$312,184.74
BASE BID MASS GR	ADING ITEMS				\$675,666.65		\$621,273.22		\$750,506.50		\$639,952.91
BASE BID DRAINAG	SE FACILITIES ITEMS				\$514,587.25		\$544,185.76		\$466,664.00		\$520,324.25
BASE BID MISCELLA	ANEOUS				\$23,585.42		\$155,178.49		\$72,369.80		\$45,253.98
TOTAL AMOUNT B	ASE BID				\$1,374,633.32		\$1,416,254.71		\$1,472,096.30		\$1,517,715.88
ALTERNATE											
TOTAL AMOUNT B	ASE BID				\$1,374,633.32		\$1,416,254.71		\$1,472,096.30		\$1,517,715.88
ALTERNATE BID ITE	EMS				\$736,927.75		\$803,180.59		\$981,750.00		\$757,403.75
TOTAL ALTERNATE	PLUS BASE BID				\$2,111,561.07		\$2,219,435.30		\$2,453,846.30		\$2,275,119.63

BID OPENING DATE:
BID OPENING LOCATION:
LABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS MAY 12, 2025 0386-0204 (9.2)

			5) LONGHORN E	EXCAVATORS, INC.	6) DNT CONSTRUCTION LLC		7) NORTH HOUSTO	ON TANDEM, INC.
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID CLEARING AND DEMOLITION ITEMS 1. CLEARING AND GRUBBING, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	79	\$1,962.00	\$154,998.00	\$1,325.00	\$104,675.00	\$5,330.00	\$421,070.00
CLEARING AND GRUBBING OF DETENTION POND, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	14	\$1,962.00	\$27,468.00	\$625.00	\$8,750.00	\$10,768.00	\$150,752.00
3. CLEARING AND GRUBBING OF DRAINAGE CHANNEL, INCLUDES ROOT RAKING AND BACK DRAGGING, COMPLETE IN PLACE	AC	9	\$1,962.00	\$17,658.00	\$610.00	\$5,490.00	\$10,310.00	\$92,790.00
4. REMOVE AND OFFSITE DISPOSAL OF EXISTING METAL BARN, COMPLETE IN PLACE	EA	1	\$1,590.00	\$1,590.00	\$2,825.00	\$2,825.00	\$11,554.00	\$11,554.00
5. REMOVE AND OFFSITE DISPOSAL OF EXISTING ABANDONED WELL, COMPLETE IN PLACE	EA	1	\$6,900.00	\$6,900.00	\$4,530.00	\$4,530.00	\$9,622.00	\$9,622.00
6. REMOVE AND OFFSITE DISPOSAL OF EXISTING 6' CONCRETE WATER TROUGH, COMPLETE IN PLACE	EA	1	\$318.00	\$318.00	\$250.00	\$250.00	\$2,318.00	\$2,318.00
7. REMOVAL AND DISPOSAL OF DISCARDED MATERIAL NEAR THE CREEK	LS	1	\$6,900.00	\$6,900.00	\$1,475.00	\$1,475.00	\$5,316.00	\$5,316.00
8. REMOVE AND OFFSITE DISPOSAL OF BARB WIRE FENCE, COMPLETE IN PLACE	LF	17310	\$2.13	\$36,870.30	\$2.55	\$44,140.50	\$1.70	\$29,427.00
9. REMOVE AND OFFSITE DISPOSAL OF EXISTING ELECTRIC FENCE, COMPLETE IN PLACE	LF	1112	\$1.08	\$1,200.96	\$2.55	\$2,835.60	\$3.45	\$3,836.40
10. REMOVE AND OFFSITE DISPOSAL OF EXISTING TREE AND ROOT BALL (ALL SIZES), (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	1	\$1,062.00	\$1,062.00	\$2,200.00	\$2,200.00	\$4,185.00	\$4,185.00
SUBTOTAL BASE BID CLEARING AND DEMOLITION ITEMS			-	\$254,965.26	_	\$177,171.10	_	\$730,870.40
BASE BID MASS GRADING ITEMS 1. BACKSLOPE SWALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	7830	\$3.00	\$23,490.00	\$0.95	\$7,438.50	\$4.75	\$37,192.50
2. ALL EXCAVATION FROM PROPOSED POND AND CHANNEL, AS INDICATED ON PLANS, COMPLETE IN PLACE	CY	198215	\$1.50	\$297,322.50	\$3.36	\$666,002.40	\$0.85	\$168,482.75
3. HAUL, PLACEMENT, GRADING, AND COMPACTION OF EXCAVATED MATERIAL FROM PROPOSED NORTH POND, FILL SHALL BE COMPACTED TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, IN ACCORDANCE WITH GRADING PLAN, COMPLETE IN PLACE	СҮ	86483	\$1.68	\$145,291.44	\$1.65	\$142,696.95	\$2.80	\$242,152.40
4. HAUL, PLACEMENT, GRADING, AND COMPACTION OF EXCAVATED MATERIAL FROM PROPOSED SOUTH POND, FILL SHALL BE COMPACTED TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, IN ACCORDANCE WITH GRADING PLAN, COMPLETE IN PLACE	СҮ	95100	\$1.68	\$159,768.00	\$1.65	\$156,915.00	\$2.90	\$275,790.00
5. HAUL, PLACEMENT, GRADING, AND COMPACTION OF EXCAVATED MATERIAL FROM PROPOSED CHANNEL, FILL SHALL BE COMPACTED TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, IN ACCORDANCE WITH GRADING PLAN, COMPLETE IN PLACE	СҮ	16632	\$1.68	\$27,941.76	\$1.85	\$30,769.20	\$3.60	\$59,875.20
SUBTOTAL BASE BID MASS GRADING ITEMS			-	\$653,813.70	_	\$1,003,822.05	_	\$783,492.85

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS MAY 12, 2025 0386-0204 (9.2)

				5) LONGHORN E	EXCAVATORS, INC.	6) DNT CONST	TRUCTION LLC	7) NORTH HOUSTO	N TANDEM, INC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
1.	DRAINAGE FACILITIES ITEMS 6' X S' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	49	\$754.74	\$36,982.26	\$650.00	\$31,850.00	\$958.00	\$46,942.00
	8' X 5' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	255	\$904.20	\$230,571.00	\$890.00	\$226,950.00	\$1,101.00	\$280,755.00
	24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	12	\$98.58	\$1,182.96	\$108.00	\$1,296.00	\$245.20	\$2,942.40
	30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	78	\$115.56	\$9,013.68	\$115.00	\$8,970.00	\$150.80	\$11,762.40
	54" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	74	\$371.01	\$27,454.74	\$345.00	\$25,530.00	\$517.00	\$38,258.00
	60" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	23	\$508.80	\$11,702.40	\$412.00	\$9,476.00	\$665.50	\$15,306.50
	TRENCH SAFETY SYSTEM FOR STORM SEWER, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	479	\$1.08	\$517.32	\$1.00	\$479.00	\$13.40	\$6,418.60
8.	8" BRICK PLUG, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$531.00	\$1,062.00	\$795.00	\$1,590.00	\$1,811.00	\$3,622.00
	REINFORCED CONCRETE STORM SEWER JUNCTION BOX WITH REINFORCED CONCRETE TYPE "E" INLET TOP, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$24,912.00	\$24,912.00	\$18,000.00	\$18,000.00	\$29,622.00	\$29,622.00
	CONTROL STRUCTURE, 3'X3' TOP OPENING WITH PARALLEL GRATE BAR, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$10,071.00	\$10,071.00	\$3,500.00	\$3,500.00	\$9,122.00	\$9,122.00
	CONSTRUCT REINFORCED CONCRETE TYPE "E" INLET ON PROPOSED STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$4,134.00	\$4,134.00	\$9,050.00	\$9,050.00	\$15,622.00	\$15,622.00
	4" REINFORCED CONCRETE SLOPE PAVEMENT WITH TOE WALLS ALL AROUND, COMPLETE IN PLACE	SY	587	\$96.48	\$56,633.76	\$108.75	\$63,836.25	\$114.00	\$66,918.00
	18" THICK CONCRETE RIP RAP, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	11	\$132.51	\$1,457.61	\$205.00	\$2,255.00	\$98.00	\$1,078.00
	BACKSLOPE INTERCEPTOR STRUCTURE INCLUDES 24" C.G.M.P STORM SEWER AND SLOPE PROTECTION, COMPLETE IN PLACE	EA	5	\$14,046.00	\$70,230.00	\$6,010.00	\$30,050.00	\$8,900.00	\$44,500.00
	30 FOOT GRASS LINED EXTREME EVENT OVERFLOW WEIR, COMPLETE IN PLACE	EA	1	\$4,026.00	\$4,026.00	\$2,015.00	\$2,015.00	\$2,633.00	\$2,633.00
	DETENTION AND CHANNEL SLOPE TURF ESTABLISHMENT AND SLOPE STABALIZATION TO ENSURE GROWTH BY ANY MEANS NECESSARY, BY THE FOLLOWING METHODS OR ANY COMBINATION OF THESE METHODS OR APPROVED EQUAL: HYDROMULCH WITH 25% MILLET & 75% BERMUDA SEEZ, OR HYDROMULCH WITH SOD STRIPS AND/OR CURLEX STRIPS SPACED AT 8' O.C. VERTICALLY ALONG SLOPES, OR DRY-APPLICATION SEED PLUS HAY/STRAW METHOD, INCLUDING WATERING, FERTILIZING, OVERSEEDING, RE-SEEDING, COMPLETE IN PLACE	AC	8	\$3,075.00	\$24,600.00	\$1,870.00	\$14,960.00	\$2,900.00	\$23,200.00

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS MAY 12, 2025

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

				5) LONGHORN EXCAVATORS, INC. 6) DNT CONSTRUCTION LLC		RUCTION LLC	7) NORTH HOUSTON TANDEM, INC		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
SEEDI NECES	NTION MAINTENANCE BERM AND CHANNEL BOTTOM BROADCAST NG TURF ESTABLISHMENT TO ENSURE GROWTH BY ANY MEANS SSARY, INCLUDING WATERING, FERTILIZING, OVERSEEDING, RE- NG, (TO BE USED AS DIRECTED BY THE ENGINEER), COMPLETE IN	AC	7	\$795.00	\$5,565.00	\$225.00	\$1,575.00	\$1,250.00	\$8,750.00
	SE BID DRAINAGE FACILITIES ITEMS			_	\$520,115.73	_	\$451,382.25		\$607,451.90
	ACE PUMPING STORMWATER, ALL SIZES PUMP, AS NECESSARY TO TRUCT DETENTION POND, (AS DIRECTED BY ENGINEER), COMPLETE IN	LS	1	\$18,600.00	\$18,600.00	\$16,000.00	\$16,000.00	\$8,000.00	\$8,000.00
CHAN POINT NECES	IND WATER CONTROL TO COMPLETE THE CONSTRUCTION OF LAKE, INEL, OR POND, INCLUDES CONVENTIONAL VACUUM TYPE WELL IS, INTERNAL SUMPS AND PUMPS, OR ANY TYPE OF PUMPING AS SSARY TO COMPLETE THE CONSTRUCTION OF THE PROJECT, (AS ITED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$11,000.00	\$11,000.00	\$25.00	\$25.00
3. TEMP	ORARY TRAFFIC CONTROL PLAN, COMPLETE IN PLACE	LS	1	\$3,300.00	\$3,300.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
GENE	M WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES RAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN ID PROPOSAL, COMPLETE IN PLACE	LS	1	\$96,495.00	\$96,495.00	\$4,174.85	\$4,174.85	\$3,640.00	\$3,640.00
	ALL, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT AREA, PLETE IN PLACE	EA	1	\$3,300.00	\$3,300.00	\$1,350.00	\$1,350.00	\$1,300.00	\$1,300.00
	ALL, MAINTAIN, AND REMOVE FILTER FABRIC FENCE (SILT BARRIER ING), COMPLETE IN PLACE	LF	8176	\$1.11	\$9,075.36	\$1.60	\$13,081.60	\$1.25	\$10,220.00
	ALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT IER FENCING), COMPLETE IN PLACE	LF	6295	\$2.67	\$16,807.65	\$1.80	\$11,331.00	\$1.80	\$11,331.00
8. CONS	TRUCTION FENCE (ORANGE), COMPLETE IN PLACE	LF	3871	\$5.85	\$22,645.35	\$1.65	\$6,387.15	\$2.05	\$7,935.55
9. INLET	PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	2	\$186.00	\$372.00	\$150.00	\$300.00	\$90.00	\$180.00
	ALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND ADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$3,080.00	\$3,080.00
CORN PROF	JILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS AND LOT IERS, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED ESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN ICAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$15,900.00	\$15,900.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
SUBTOTAL BAS	SE BID MISCELLANEOUS			_	\$204,795.36	_	\$92,624.60	_	\$58,211.55
1. 8' X 5'	TERNATE BID ITEMS REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES ING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	255	\$946.59	\$241,380.45	\$885.00	\$225,675.00	\$1,115.00	\$284,325.00
SLOPE TRAN BOTTE	APEZOIDAL CONCRETE LINED OFFSITE CHANNEL (INCLUDES SIDE ES). CONCRETE CHANNEL SHALL HAVE A 25' BOTTOM WIDTH SITION FROM 25' TO 40' FROM STA. 29+50 TO STA. 30+00, AND 40' OM WIDTH FROM STA. 30+00 TO STA. 30+39 AT THE OUTFALL END. PLETE IN PLACE	SY	4645	\$143.10	\$664,699.50	\$108.00	\$501,660.00	\$88.15	\$409,456.75

0386-0204 (9.2)

BID TABULATION FOR:

CLEARING AND GRUBBING AND MASS GRADING & DETENTION TO SERVE CAMERON COVE

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

HARRIS-WALLER COUNTIES MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF WALLER, WALLER COUNTY, TEXAS MAY 09, 2025 LIA ENGINEERING, INC. A.CAROTHERS MAY 12, 2025 0386-0204 (9.2)

				5) LONGHORN EXCAVATORS, INC.		6) DNT CONST	FRUCTION LLC	7) NORTH HOUSTON TANDEM, INC.	
NO. ITEM DESCRIPTION	UNIT	QTY		UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
3. "DEMOLITION, REMOVAL, AND OFFSITE DISPOSAL OF EXISITING ANCILLARY STRUCTURE (OUTBUILDING), INCLUDING FOUNDATION, UTILITIES DISCONNECTION, AND PROPER DISPOSAL. WORK INCLUDES DISCONNECTION OF UTILITIES (IF PRESENT) AND HAUL-OFF OF MISCELLANEOUS DISCARDED MATERIALS (E.G., OLD DOORS, ALUMINUM ROOFING, SURPLUS CONSTRUCTION ITEMS) FOUND ON SITE	LS		1	\$150,000.00	\$150,000.00	\$2,665.00	\$2,665.00	\$13,115.00	\$13,115.00
SUBTOTAL ALTERNATE ALTERNATE BID ITEMS				•	\$1,056,079.95	_	\$730,000.00	_	\$706,896.75
BID SUMMARY								77	
BASE BID CLEARING AND DEMOLITION ITEMS					\$254,965.26		\$177,171.10		\$730,870.40
BASE BID MASS GRADING ITEMS					\$653,813.70		\$1,003,822.05		\$783,492.85
BASE BID DRAINAGE FACILITIES ITEMS					\$520,115.73		\$451,382.25		\$607,451.90
BASE BID MISCELLANEOUS					\$204,795.36		\$92,624.60		\$58,211.55
TOTAL AMOUNT BASE BID					\$1,633,690.05		\$1,725,000.00		\$2,180,026.70
ALTERNATE									
TOTAL AMOUNT BASE BID					\$1,633,690.05		\$1,725,000.00		\$2,180,026.70
ALTERNATE BID ITEMS					\$1,056,079.95		\$730,000.00		\$706,896.75
TOTAL ALTERNATE PLUS BASE BID					\$2,689,770.00		\$2,455,000.00		\$2,886,923.45